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222 =22 00 =2,200 = 2k2
473 =47 000 = 47,000 = 47k

105 =10 00000 = 1,000,000 = 1M (ol ;ygukes S5)

o030 s y0 1y slesls 8 5 Jgos jotazgs

R = ohms k = kilo ohms = 1,000 ohms M = Meg = 1,000,000 ohms
Sezge sl 5, (solad b (63 awuS b)ebans (lo Cunglie Jgo>

OR1 = 0.10hm 470 = 47R 332 = 3k3 224 = 220k
R22 = 0.220hm 560 = 56R 392 = 3k9 274 = 270k
R33 = 0.33chm 680 = 68R 472 = 4k7 334 = 330k
R47 = 0.47ohm 820 = 82R 562 = 5ké 394 = 390k
R68 = 0.68ohm 101 = 100R 682 = 6k8 474 = 470k
R82 = 0.820hm 121 = 120R 822 = 8k2 564 = 560k
1R0 = 1R 151 = 150R 103 = 10k 684 = 680k
1R2 = 1R2 181 = 180R 123 =12k 824 = 820k
2R2 = 2R2 221 = 220R 153 = 15k 105 = 1MO
3R3 = 3R3 271 = 270R 183 = 18k 123 = 1M2
4R7 = 4RY 331 = 330R 223 = 22k 155 = 1M5
5R6 = 5R6 391 = 390R 273 =27k 185 = 1M8
6R8 = 6R8 471 = 470R 333 =33k 225 = 2M2
8R2 = 8RZ 561 = 560R 393 = 39k 275 = M7
100 = 10R 681 = 680R 473 = 47k 335 = 3M3
120 = 12R 821 = 820R 563 = 56k 395 = 3M9
150 = 15R 102 = 1k0 683 = 68k 475 = 4M7
180 = 18R 122 = 1k2 823 = 82k 565 = HM6
220 = 23R 152 = 1k5 104 = 100k 685 = 6M8
270 = 27R 182 = 1k8 124 = 120k B25 = 8M2
330 = 33R 222 = 2k2 154 = 150k 106 = 10M0
390 = 39R 272 = 2k7 184 = 180k
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0000 =00R 10R0 = 10R 1000 = 100R 1001 = 1k0 1002 = 10k 1003 = 100k 1004 = 1M
00R1 =0.1chm 11RO = 11R 1100 = 110R 1101 = 1k1 1102 = 11k 1103 = 110k 1104 = 1M1
OR22 = 0.22o0hm | 12R0 = 12R 1200 = 120R 1201 = 1k2 1202 = 12k 1203 = 120k 1204 = 1M2
OR47 = 0.470hm | 13R0 = 13R 1300 = 130R 1301 = 1k3 1302 = 13k 1303 = 130k 1304 = 1M3
0OR68 = 0.680hm | 15R0 = 15R 1500 = 150R 1501 = 1k5 1502 = 15k 1503 = 150k 1504 = 1M5
DR82 = 0.680hm | 16R0D = 16R 1600 = 160R 1601 = 1k6 1602 = 16k 1603 = 160k 1604 = 1M6
1R00 = 10hm 18R0 = 18R 1800 = 180R 1801 = 1k8 1802 = 18k 1803 = 180k 1804 = 1M8
1R20 = 1R2 20R0 = 20R 2000 = 200R 2001 = 2k0 2002 = 20k 2003 = 200k 2004 = 2M0
ZR20 = ZR2Z 22R0 = 27R 27200 = 220R | 2201 = 2k2 7202 = 11k 2203 = 220k 21704 = 2MZ
3R30 =3R3 24R0 = 24R 2400 = 240R | 2401 = 24 2402 = 24k 2403 = 240k 2404 = 2M4
6R80 = 6R8 27RO = 27R 2700 = 270R 2701 = 27 2702 = 27k 2703 = 270k 2704 = 2M7
8R20 = 8R2 30RO = 30R 3000 = 300R 3001 = 3kO0 3002 = 30k 3003 = 300k 3004 = 3M0
33R0 = 33R 3300 = 330R 3301 = 3k3 3302 = 33k 3303 = 330k 3304 = 3M3
36R0 = 36R 3600 = 360R 3601 = 3ké 3602 = 36k 3603 = 360k 3604 = 3M6
J9R0 = 39R 3900 = 390R 3901 = 3k9 3902 = 39k 3903 = 390k 3904 = 3M9
43R0 = 43R 4300 = 430R | 4301 = 4k3 4302 = 43k 4303 = 430k 4304 = 4M3
47R0 = 47R 4700 = 470R 4701 = 47 4702 = 47k 4703 = 470k 4704 = 4p7
51R0 = 51R 5100 = 510R 5101 = Hk1 5102 = 51k 5103 = 510k 5104 = 5M1
6RO = H6R 5600 = 560R 5601 = 5koé 5602 = 56k 5603 = 560k 5604 = 5Mé
62R0 = 62R 6200 = 620R 6201 = 6k2 6202 = 62k 6303 = 620k 6204 = 6M2
68RO = 68R 6800 = 680R | 6801 = 6k8 6802 = 68k 6803 = 680k 6804 = 6MB
75R0 = 75R 7500 = 750R | 7501 = 7k5 7502 = 75k 7503 = 750k 7504 = TS
82R0 = 82R 8200 = 820R | 8201 = 8k2 8202 = 82k 8203 = 820k 8204 = 8M2
91RO = 91R 9100 = 910R | 9101 = 91 9102 = 91k 9103 =910k 9104 = 9M1
1005 = 10M
5,10 jaee @S> diiiwd Slael yole a5 RIKM iaiSS
5K1=5.1K : Sk
A5 8 v ) slellie @
o5y oS gl S 05y 5z o5 6l p Jle
330 is 33 ohms - not 330 ohms 1000 is 100 ohms - not 1000 ohms
221 is 220 ohms 4992 is 49 900 ohms, or 49k9
683 is 68 000 ohms, or 68k 1623 is 162 000 ohms, or 162k
105 is 1000 000 ohms, or 1M OR56 or R56 is 0.56 ohms

8R2

is 8.2 ohms
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